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Name Test 1

CHEM 0203 (Organic) Spring 2025
(8 pts. ea. ) Predict the likely organic products for the following substitution reactions. The
likely mechanism is indicated under the reaction arrow. Remember to specify the L
stereochemistry of the products using (—ms) and dashed (:-«nin) bonds where
appropriate.
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5. (8 pts.) Provide two examples of protic solvents.
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6. (8 pts.) Briefly explain how protic solvents interfere with nucleophiles.



7. (12 pts.) Determine whether the following reactions are more likely to proceed by an Snx1 or an
Sn2 mechanism.
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8. (12 pts.) For each pair of reactants, determine which would be the better Sx2 substrate.
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(8 pts. ea.) Predict all likely organic products for the following elimination reactions. The likely
mechanism appears under the reaction arrow. Remember to specify the stereochemistry of the
products using wedge (—-=mml) and dashed (--1111i1l) bonds where appropriate.
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12. (10 pts.) Draw a mechanism for the following reaction. Remember to draw all intermediates
and include electron movement arrows.
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13. (12 pts.) Predict the most likely reaction mechanism (Sx1, Sx2, E1, or E2) for the reactions
done under the following conditions.
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